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[ v2 K % 7ok 14 v k—%JL | HDCP ESV1 Ak
B B ik Fth 42 42 84 22.0 62.0 400
B T =E 44 43 87 19.0 68.0 300
3L ARE Yot 46 46 92 23.0 69.0 200
Afsx A BX 44 41 85 15.0 70.0 100
5L xKE B— 47 42 89 19.0 70.0 100
64z FN IEE 51 44 95 25.0 70.0

74z £2 &N 47 43 90 19.0 71.0 90
81 HA BEA 53 50 103 30.0 73.0

9fiz aA 28k 46 42 88 14.0 74.0

104z FTFE = 55 40 95 20.0 75.0 75
114 BiE &2 46 44 90 15.0 75.0

12431 B OE— 46 46 92 17.0 75.0

134 i F®E 42 47 89 14.0 75.0

14431 TR fE— 50 54 104 29.0 75.0

15431 fBR EBH 48 43 91 15.0 76.0

164 A0 8% 57 50 107 31.0 76.0

174 H#T =F 50 44 94 17.0 77.0

184 FR &EE 47 44 91 14.0 77.0

19431 KiI {588 48 52 100 23.0 77.0

20431 BIR REE 52 46 98 20.0 78.0 60
2141 FT Bt 58 47 105 27.0 78.0

22431 B K 51 50 101 23.0 78.0

231 pi= 5 I 54 42 96 17.0 79.0

24431 g JE 51 45 96 17.0 79.0

2541 AT HE 47 47 94 15.0 79.0

261 HE = 52 51 103 24.0 79.0

2741 mH EBEX 50 44 94 14.0 80.0

28131 mwH BX 48 48 96 16.0 80.0

2911 ARH E/\H 53 54 107 27.0 80.0

301z x5 BE 51 47 08 17.0 81.0 60
3141 HE AL 55 44 99 15.0 84.0

324 FE &= 52 47 99 15.0 84.0

334 FrR AF 56 60 116 32.0 84.0

3441 A 8t 53 53 106 21.0 85.0

3511 B’ FHiE 59 57 116 28.0 88.0

361 HE EBEE 52 52 104 15.0 89.0

374 fERK BuE 63 49 112 22.0 90.0

381 i1 =EZEE 57 60 117 27.0 90.0

BBE AREK = 57 59 116 21.0 95.0 90
401z WA IESE 58 59 117 21.0 96.0

N R X lEF
AEBEHEL AEF B 51 45 96 27.0 69.0




